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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 489 7.5 1.8 9 82.8 100
2 489 6.6 1.6 8 82.8 100
3 487 2.6 0.8 3 88.3 99.6
4 489 5 1.6 6 83.4 100
5 479 4.2 1.4 5 84 98
6 488 5.7 2.6 8 70.9 99.8
7 485 6.6 3 9 73.2 99.2
8 489 4.2 2.6 7 59.4 100
9 482 2.5 1.9 4 61.7 98.6
10 476 1.2 0.9 2 59.5 97.3
11 477 33 1.5 4 81.5 97.5
12 467 1.5 1.4 3 50.9 95.5
13 417 1 1.3 3 31.8 85.3
14 476 4 1.8 7 57.1 97.3
15 456 1.8 1.7 4 44.4 93.3
16 466 3.1 3.1 9 34.6 95.3
17 454 3.6 2.7 6 60.2 92.8
18 379 0.6 0.9 3 19.5 77.5
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Examiner
I
(@) The shape below shows a semi circle attached to a rectangle. e
A D
i
|
I
O+
i
|
B C
Diagram not drawn to scale
The radius of the semi circle is 6:1 cm and the length BC = 16-7 cm.
Calculate the area of the shape. [6]

(b) A circle has a circumference of 24w cm.
Calculate the radius of the circle. [2]
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Examiner
(@ The shape below shows a semi circle attached to a rectangle. i
A D
i
i
04 12,
i
|
B [6.Ten C
Diagram not drawn to scale
The radius of the semi circle is 61 cm and the length BC = 16:7 cm.
Calculate the area of the shape. [6]
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(b) A circle has a circumference of 24mcm.
Calculate the radius of the circle. [2]
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6. (@) The shape below shows a semi circle attached to a rectangle.

D

C-Vem

B 16 7em C
Diagram not drawn to scale

The radius of the semi circle is 6:1 cm and the length BC = 16:7cm.
Calculate the area of the shape.

(b)  Acircle has a circumference of 24xcm.
Calculate the radius of the circle.
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6.(a) Arca sem circle ¥ <@ = 6.1 M2 M1 for sightof m = 6.1%or Y2 x = 12.2
Area semi circle in therange  38.4 ... to 58.5 (cm®) Al CAQ. May be embedded in further working
Arearectangle 16.7 x (6.1 +6.1) or 16.7 x 12.2 or B2 Bl for 16.7 x 6.1
203 .74(cm?)
Answer in the range 262.1... to 262.24(cm? Bl CAO, although accept answer rounded to 262{cm?)
(b) 24m=2mr or 24n=mnd or d= 24 or 2r = 24 M1
Radius =12 (cm) Al Accept an unsupported answer of 12 (cm)











(@) The shape below shows a semi circle attached to a rectangle.

A D
;
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B C

Diagram not drawn to scale

The radius of the semi circle is 6:1 cm and the length BC = 16-7 cm.
Calculate the area of the shape.

Examiner

(b) A circle has a circumference of 24w cm.
Calculate the radius of the circle.
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Sticky Note

The candidate is confusing different areas of mathematics,
this seems to be an attempt to apply Pythagoras’ Therorem.
There is no logic shown towards calculating an area of a rectangle, as length multiplied by width.



Sticky Note

Is this an attempt to calculate the circumference?
The area of a semi circle is required, not the circumference.



Sticky Note

The candidate shows no understanding of circumference as pi multipled by diameter.










Examiner
(@ The shape below shows a semi circle attached to a rectangle. ay
A D
i
I
i
|
|
E
B [ 6.1 €
Diagram not drawn to scale
The radius of the semi circle is 6-1 cm and the length BC = 167 cm.
Calculate the area of the shape. [6]
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(b) A circle has a circumference of 24mwcm.
Calculate the radius of the circle. @ [2]

i
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Sticky Note

The area of the semi circle is correct, M2 A1 is awarded here.



Sticky Note

The candidate has doubled the radius to find the width of the rectangle.
Hence, calculating the area of the rectangle correctly, B2 is awarded.



Sticky Note

The correct area, B1 is awarded.



Sticky Note

A correct solution.



Sticky Note

The candidate understanding that the circumference given is equal to pi times diameter.
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(@) The shape below shows a semi circle attached to a rectangle.

D

C-Vem

B 16 7em (&
Diagram not drawn to scale

The radius of the semi circle is 6:1 cm and the length BC = 16:7cm.

Calculate the area of the shape.

(b)  Acircle has a circumference of 24w cm.
Calculate the radius of the circle.
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Sticky Note

The area of the semi circle is calculated correctly. M2, A1 is awarded.



Sticky Note

16.7 x 6.1 is the length of the rectangle times the radius of the circle, this is incorrect as the width of the rectangle is actually the diameter of the circle. B1 is awarded for the idea of the area.



Sticky Note

The candidate is confusing area with circumference.










6. (a) The shape below shows a semi circle attached to a rectangle.

A D
l
a
ot
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B C

Diagram not drawn to scale

The radius of the semi circle is 6:1cm and the length BC = 16-7cm.
Calculate the area of the shape.

(b) A circle has a circumference of 24mcm.
Calculate the radius of the circle.
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12

(@) The price of fuel has increased by 20% each year.
The cost of fuel was £1.49 per litre on 1st January 2015.

If the price of fuel continues increasing at the same rate, what would you expect the cost

of a litre of fuel to be on 1st January 20207
Give your answer correct to the nearest penny.

(b)  After an increase of 24%, the cost of 1 tonne of coal is £451.36.

Calculate the cost of 1 tonne of coal before the increase in price.

............ 6ty L = E36% xloo- L1640
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(@) The price of fuel has increased by 20% each year.
The cost of fuel was £1.49 per litre on 1st January 2015.
If the price of fuel continues increasing at the same rate, what would you expect the cost
of a litre of fuel to be on 1st January 2020?
Give your answer correct to the nearest penny. [4]

(b)  After an increase of 24%, the cost of 1 tonne of coal is £451.36.
Calculate the cost of 1 tonne of coal before the increase in price. [3]
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[
8. (@) The price of fuel has increased by 20% each year. .

The cost of fuel was £1.49 per litre on 1st January 2015.

If the price of fuel continues increasing at the same rate, what would you expect the cost
of a litre of fuel to be on 1st January 20207

Give your answer correct to the nearest penny. [4]

(b)  After an increase of 24%, the cost of 1 tonne of coal is £451.36.
Calculate the cost of 1 tonne of coal before the increase in price. [3]

.........................................................................................................................................................................................................
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8.(a) 1.49 x 1.2(0)°

(b) Sight of or implication that 451.36 is 124%

451.36+1.24 or equivalent

(£)3.71

(£)364

M2
A2

El
M1
Al

M1 for sight of 1.49 x 1.2¢(0)

Al for (£)3.70(...) or for (£)3.72

For 6 years considered, allow M1, and SC1 for an
answer (£)4.45











8.

12

(@) The price of fuel has increased by 20% each year.
The cost of fuel was £1.49 per litre on 1st January 2015.

If the price of fuel continues increasing at the same rate, what would you expect the cost

of a litre of fuel to be on 1st January 20207
Give your answer correct to the nearest penny.

(b)  After an increase of 24%, the cost of 1 tonne of coal is £451.36.

Calculate the cost of 1 tonne of coal before the increase in price.
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Sticky Note

A correct method, not an efficient method though.  However, in working year by year, errors are made due to rounding answers each time.
The final answer should be £3.71.
M2, A1 is awarded.
A more efficient method would be to calculate 1.2 to the power of 5 multiplied by £1.49.



Sticky Note

A correct solution.
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(@) The price of fuel has increased by 20% each year.
The cost of fuel was £1.49 per litre on 1st January 2015.
If the price of fuel continues increasing at the same rate, what would you expect the cost
of a litre of fuel to be on 1st January 2020?

Give your answer correct to the nearest penny. [4]
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(b)  After an increase of 24%, the cost of 1 tonne of coal is £451.36.
Calculate the cost of 1 tonne of coal before the increase in price. [3]
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Sticky Note

The initial stage of thinking would be to find either 20% of £1.49 or 120% of £1.49.
The first method mark is for an attempt to calculate 120% of £1.49.
This is not shown.
No marks are awarded.



Sticky Note

A correct solution.










12

Examiner
|
8. (a) The price of fuel has increased by 20% each year. .
The cost of fuel was £1.49 per litre on 1st January 2015.
If the price of fuel continues increasing at the same rate, what would you expect the cost
of a litre of fuel to be on 1st January 20207
Give your answer correct to the nearest penny. [4]
.......................... bdlial e L R O T U R
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(b)  After an increase of 24%, the cost of 1 tonne of coal is £451.36.

Calculate the cost of 1 tonne of coal before the increase in price. [3]
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Sticky Note

Although the candidate has worked year by year, instead of an efficient calculation of 1.2 to the power 5 multiplied by £1.49, they have kept all the accuracy in their calculator.  Had yearly answers been rounded the final answer could have been a penny out.  This candidate has answered correctly, keeping the accuracy required.



Sticky Note

The candidate has not understood that £451.36 represents 124%, and that 100% is required.










(@) The price of fuel has increased by 20% each year.
The cost of fuel was £1.49 per litre on 1st January 2015.

If the price of fuel continues increasing at the same rate, what would you expect the cost
of a litre of fuel to be on 1st January 20207?
Give your answer correct to the nearest penny. [4]

(b) After an increase of 24%, the cost of 1 tonne of coal is £451.36.
Calculate the cost of 1 tonne of coal before the increase in price. [3]
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14. (a) Triangle A has sides of length xcm, (2x + 3)cm and 2xcm.
The perimeter of triangle A is 123 cm. ) Cz
Calculate the lengths of all the sides of this triangle. %_5 X+
You must show all your working. 4

(b) Triangle B has sides of length ycm, (2y + 3)cm and 2y cm.
Is triangle A similar to triangle B?
You must give a reason for your answer. [1]

(c) Triangle C has sides of length 3gcm, 4gem and 6gcm.
Triangle D has sides of length 34cm, 42cm and 64 cm.

Explain why triangle C is similar to triangle D and state when the two triangles would be

congruent. [2]
ben. aw simioc. ecouse € h are
D0 iﬁﬁwAALij..p.u[e.d ........... t’icjﬁﬁe ........ eume. hsmbers...
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14. (a) Triangle A has sides of length xcm, (2x + 3)cm and 2xcm.
The perimeter of triangle A is 123 cm.
Calculate the lengths of all the sides of this triangle.
You must show all your working. [4]

(b) Triangle B has sides of length ycm, 2y + 3)cm and 2ycm.
Is triangle A similar to triangle B?
You must give a reason for your answer. [1]

(c) Triangle C has sides of length 3gcm, 4gcm and 6gcm.
Triangle D has sides of length 32cm, 4hcm and 6/4cm.

Explain why triangle C is similar to triangle D and state when the two triangles would be
congruent. [2]
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Examiner
I
14. (a) Triangle A has sides of length xcm, (2x + 3)cm and 2xcm. -
The perimeter of triangle A is 123 cm.
Calculate the lengths of all the sides of this triangle.
You must show all your working. [4]

z 7 Lr
(b) Triangle B has sides of length ycm, 2y + 3)cm and 2ycm. -
Is triangle A similar to triangle B?
You must give a reason for your answer.

(c) Triangle C has sides of length 3gcm, 4gcm and 6gcm. \
Triangle D has sides of length 3/.cm, 42cm and 64cm.

Explain why triangle C is similar to triangle D and state when the two triangles would be
congruent. [2]
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14.(a) x+2x+3+2x

=123
5x+3=1230R5x=120 OR x=24
Lengths are 24(cm), 51(cm), 48(cm)

{b) States or implies no, with a reason based on
corresponding sides met being in proportion

{¢) Explanation based on corresponding sides being in
proportion for similarity

Statement or implies that g =h for congruency

B1
Bl
B1
Bl

El

El

El

Equate to 123 for their terms in x

CAO

FT provided sum of terms equated to 123
attempted, then their x, their 2x +3 and their 2x

Accept ‘only similar when x = y” or ‘no because y
could be a different value to x°

Accept “both proportional to each other’, “yes, as
in the same ratio’, ‘similar but with different scale
factors’

Allow “similar as coefficients (numbers before the
letters) are the same, so multiplied by the same
mumber’

Do not accept “when all the sides are the same
length’
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14. (a) Triangle A has sides of length xcm, (2x + 3)cm and 2xcm.
The perimeter of triangle A is 123 cm. V' \c
Calculate the lengths of all the sides of this triangle. .j._i’ Z’W 3
You must show all your working. 1 )(n ) [4]

(b) Triangle B has sides of length ycm, (2y + 3)cm and 2ycm.
Is triangle A similar to triangle B?
You must give a reason for your answer. [1]

(¢) Triangle C has sides of length 3gcm, 4gem and 6gcm.
Triangle D has sides of length 34cm, 4hcm and 64 cm.

Explain why triangle C is similar to triangle D and state when the two triangles would be
congruent. [2]

..........................................................................................
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Sticky Note

Although not formally expressed algebraically, the method used has been one of operations in the correct order.  As an equation was not asked for in the question, this informal method is acceptable and correct.



Sticky Note

This is a very minimal explanation, but actually true.  Not well explained.  The benefit has been given to the candidate, poor expression but correct.



Sticky Note

Not well expressed, but true, it is about proportion due to the coefficients.  
However, the candidate has not answered the question in full, by stating when the triangles would be congruent, that is when g = h.
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Examiner
I
14. (a) Triangle A has sides of length xcm, 2x + 3)cm and 2xcm. i
The perimeter of triangle A is 123 cm.
Calculate the lengths of all the sides of this triangle.
You must show all your working. [4]

(b) Triangle B has sides of length ycm, 2y + 3)cm and 2ycm.
Is triangle A similar to triangle B?
You must give a reason for your answer. [1]

(c) Triangle C has sides of length 3gcm, 4gcm and 6gcm.
Triangle D has sides of length 32cm, 4hcm and 6/4cm.

Explain why triangle C is similar to triangle D and state when the two triangles would be
congruent. [2]

E ANgiE e 3:h ................ =
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Sticky Note

The candidate has formed an equation and solved it correctly.  Not all stages of working are shown, but there are no errors, so all 4 marks are awarded for finding the lengths of the sides of the triangle.



Sticky Note

No they are not similar, as the sides are not corresponding, or in the same proportion.



Sticky Note

Yes, the sides are in proportion, this isn’t well expressed, but the benefit is given that this is what the candidate means here, E1 is awarded.
The triangles are congruent when g = h, E1 is awarded.
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Examiner
14. (a) Triangle A has sides of length xcm, (2x + 3)cm and 2xcm. o
The perimeter of triangle A is 123 cm.
Calculate the lengths of all the sides of this triangle.
You must show all your working. [4]

2 7 Lr
(b) Triangle B has sides of length ycm, (2y + 3)cm and 2ycm. c

Is triangle A similar to triangle B?
You must give a reason for your answer.

~

A3 < 3
oe &\:’&Q&, an . VAVEN, Sy
& “‘~ - S ~ 7N

(c) Triangle C has sides of length 3gcm, 4gcm and 6gcm. ‘
Triangle D has sides of length 3/.cm, 42cm and 64cm.

Explain why triangle C is similar to triangle D and state when the two triangles would be
congruent. [2]

aeu . ome. Siaados. Decanse. oF . Mae. Scuane.. P fG(\)oM\vas
i \Q/V\%M/\s ..... B /l\r\% ........... LoD, oe.. .o ngvum/%
Laean. e | ... Decanse.of  Mae.... Side.. .
S0 Side... (S5S.)..0) Lo . Wineae... Yavee .
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Sticky Note

A correct solution, by forming and solving an equation, showing each stage of working.
The lengths of the sides of the triangle are correct, all 4 marks are awarded.



Sticky Note

The candidate is obviously unsure, when work is crossed out and replaced, it is the replaced work that is marked.
The replaced conclusion is incorrect.



Sticky Note

A correct response to both aspects of the question.










Examiner

|
14. (a) Triangle A has sides of length xcm, (2x + 3)cm and 2xcm. o

The perimeter of triangle A is 123 cm.
Calculate the lengths of all the sides of this triangle.
You must show all your working. [4]

(b) Triangle B has sides of length ycm, (2y + 3)cm and 2ycm.
Is triangle A similar to triangle B?
You must give a reason for your answer. [1]

(c) Triangle C has sides of length 3gcm, 4gcm and 6gcm.
Triangle D has sides of length 3/cm, 4hcm and 64 cm.

Explain why triangle C is similar to triangle D and state when the two triangles would be
congruent. (2]











(@ The shape below shows a semi circle attached to a rectangle.

A D
SHLR l
o4

B C

Diagram not drawn to scale

The radius of the semi circle is 6-1 cm and the length BC = 167 cm.
Calculate the area of the shape. [6]

(b) Acircle has a circumference of 24w cm.
Calculate the radius of the circle. [2]
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Sticky Note

The area of the semi circle is correct, M2, A1 is awarded.



Sticky Note

The width of the rectangle is not the radius of the circle, 6.1 cm, it is double this, the diameter which is 12.2 cm.  B1 is awarded for the attempt at calculating the area of the rectangular part of the shape.



Sticky Note

The candidate shows no understanding of 24 pi being equal to pi times the diameter.










Examiner
(@ The shape below shows a semi circle attached to a rectangle. oy
A D
CHLN !
1
|
I
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|
B C
Diagram not drawn to scale
The radius of the semi circle is 6-1 cm and the length BC = 16:7 cm.
Calculate the area of the shape. [6]
Ty
>
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(b) A circle has a circumference of 24mcm.
Calculate the radius of the circle. [2]
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